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Q 1) Attempt any twa) 0f the following.
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A0133FR/ A3981 ECONOMICS : PAPER II
Q. P. Code: 22694
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_ From the above table: (i) calculate the average and marginal product (AP & MP). (ii) Plot the
table graphically and explain the relationship between TP, AP & MP with the h®lp of a diagram.

Q.3) Attempt any two of the following.

a) Graphically explain the relationship between Average & Marginal cost.
b) Calculate the following costs from the table given below: TC, AFC, AVC, ATC & MC.
~ Plot the table graphically and explain the behavior of all cost concepts from the diagram.

»

Units of Qutput  TEC [TVC
0 0 0
1 50 | 10
2 50 | 30 -
3 |50 | 60
4 50 | 100
5 50 | 150
6 | 50 | 210

¢) Explain the relationship between AR, MR and TR in a competitive mmarket.

Q.4) Attempt any two of the following.
a) What are the features of a competitive market?
b) What is normal profit? Explain the equilibrium of a firm under short run with (i) Super
normal profit, and (ii) shut down point.
¢) Describe the concept of consumer’s surplus diagrammatically.

Q.5) Write a short note on any two of the following.
a) Concept of strong and weak ordering in consumer preferences
b) Cobb-Douglas production function -
¢) Equilibrium of a firm using TR and TC
d) Perfectly competitive markets have allocative efficiency in resource allocation
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